Q.1

Q.2

Q.3

Q.3

Q4

Q.4

Q.5

Q.5

Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering - SEMESTER-IV « EXAMINATION — SUMMER - 2014

Subject Code: 3340603 Date: 29/05/2014
Subject Name: Basic Transportation Engineering
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

(@ (i) Explain factors affecting road alignment.

(i) State factors affecting selection of pavement.

(b) (1) On a two lane and two way traffic roads, the speeds of overtaking and
overtaken vehicles are 75 Km/h and 35 Km/h respectively. If the
acceleration of overtaking vehicle is 1.1 m/sec?,

(a) Calculate safe overtaking sight distance.
(b) Minimum length and desirable length of Overtaking zone required.
(i) Explain flexible pavement with neat and clean sketch.

(@) State methods for soil stabilization and Explain cement stabilization in brief.
(b) (i) Explain California Bearing Ratio (CBR) Test.
(i) State the sources of intrusion of water in the road structure.
OR
(b) (i) Explainroad side arboriculture. State objects for road side arboriculture.
(i) Explain Inlet with neat and clean sketch.

(@) Explain the requirements of good drainage.

(b) Draw neat and clean sketches of cross-section of permanent way as per IRS.
OR

(@) Explain methods for subsurface drainage.

(b) State the characteristics of ideal permanent way.

(@ (i) State the components of railway track and explain functions of ballast in
detail.
(i) Explain suspension bridge with neat and clean sketch.
(b) State the types of yards. Explain functions of goods yards and marshalling
yards.
OR
(@ (i) State the factors affecting selection of railway gauge.
(i) Explain slab culvert in detail with neat and clean sketch.
(b) Explain left hand and right hand turnout with neat and clean sketch.

(@ A bridge is proposed to be constructed across an alluvial stream carrying a
discharge of 450 cumec. Determine the maximum scour depth when the
bridge consist of

(i) Two spans of 45 m each.
(i) Three spans of 40 m each.

(b) (i) State purpose and necessity of inspection report.

(ii) State types of railway crossings.
OR

(@ The following are the cost of one pier and one superstructure span of multiple

span bridge for various span lengths. The cost of super structure span excludes
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the costs of railing and flooring system. Calculate the economic span.

Span (m) 5 10 15 19
Cost of superstructure (Rs.) 20000 | 60000 | 198650 | 315000
Cost of substructure (pier) (Rs.) | 232000 | 257000 | 250000 | 255000

(i) State the points to be considered at the time of inspection of
superstructure.

(ii) State functions of railway station.
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